Genotype frequency and use of single nucleotide polymorphisms for detection of informative allele by polymerase chain reaction

Ayesha Nayyar¹, Suhaib Ahmed²

ABSTRACT

Objective: To determine genotype frequency of biallelic single nucleotide polymorphisms and its use in detection of informative allele in donor/recipient pairs (sibling pairs) having undergone haematopoietic stem cell transplantation with various haematological disorders using a PCR based method.

Methods: This descriptive study was conducted at GRC Lab Rawalpindi from Jan 2018 - Oct 2019. A total of twenty donor/recipient pairs (sibling pairs) were studied for genotype frequency and informativeness of single nucleotide polymorphisms. Genomic DNA was extracted from the peripheral blood and amplification of single nucleotide polymorphisms was done by PCR based method. The amplified DNA was seen by electrophoresis on 6% polyacrylamide gel.

Results: A sharp band of DNA on the polyacrylamide gel indicated a positive reaction. At least two or more informative SNP markers were found in every sibling pair.

Conclusion: Our results demonstrate that PCR amplification of polyacrylamide gel electrophoresis using single nucleotide polymorphism has allowed the successful screening and detection of informative allele in all the donor/recipient pairs. (Sibling pairs). This PCR based assay using SNPs appears to be a quick, simple, reliable and technically feasible method for a use in a Pakistani setting.

KEYWORDS: Single Nucleotide Polymorphism; PCR; Sibling Pairs; Informative allele.

doi: https://doi.org/10.12669/pjms.36.7.2998

How to cite this:

Nayyar A, Ahmed S. Genotype frequency and use of single nucleotide polymorphisms for detection of informative allele by polymerase chain reaction. Pak J Med Sci. 2020;36(7):1567-1571. doi: https://doi.org/10.12669/pjms.36.7.2998

This is an Open Access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/3.0), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

1. Dr. Ayesha Nayyar, M.Phil.

- 2. Prof. Dr. Suhaib Ahmed, FCPS, PhD
- 1-2: Department of Pathology, Islamic International Medical College, Riphah International University, Islamabad, Pakistan.

Correspondence:

Dr. Ayesha Nayyar, MBBS, M.Phil. Associate Professor, Pathology Department, Islamic International Medical College, Riphah International University, Islamabad - Pakistan. E-mail: ayesha.nayyar@riphah.edu.pk

*	Received for Publication:	June 2, 2020

Accepted for Publication: August 20, 2020

INTRODUCTION

The human genome may contain the most common genetic variation in the form of SNPs.¹ A single-nucleotide polymorphism may represent as a substitution of a single nucleotide present at a specific location in the human genome. These variations are present in general population with frequency of more than 1%. Any of the two individuals may differ by million SNPs in their genomic pattern.² SNPs sequences has also been utilized in the depiction of population genetics, pharmacogenomics as well as the genes causing cancers and other diseases.³

Because of the stability and uniqueness of SNPS, they can be demonstrated by sensitive quantitative assays and have shown to be a useful

molecular genetic marker in genetic disease studies⁴ and also helpful in assessing chimerism status after stem cell transplantation in PCR based assays.⁵ This chimerism status involving both donor and recipient patterns are essential in predicting the status of engraftment after stem cell transplantation.⁶ Before stem cell transplantation the donor and recipient genotypes may have to be evaluated by PCR analysis of single nucleotide polymorphism (SNP).

There is no such study available locally which could help in determining the genotype frequency of single nucleotide polymorphisms in donor/ recipient (sibling) pairs and their role in a PCR based assay for detection of informative allele in donor/recipient pairs with various hematological disorders. Keeping in view, this study was planned to demonstrate a qualitative PCR based method using SNPs as a genetic marker for detection of informative allele between donor/recipient (sibling) pairs.

METHODS

It was a descriptive study conducted on twenty sibling pairs selected by non probability convenient sampling from Jan 2018 - Oct 2019. The sibling pairs with various haematological disorders having undergone HSCT at the Pakistan Institute of Medical Sciences (PIMS) and Armed Forces Bone Marrow Transplant Center (AFBMTC) were included. The study was approved by the Ethical Review Committee of Islamic international Medical College (Appl. # Riphah /IRC/ 20/202) and informed written consent was taken from the study subjects.

A total of 18 human bi-allelic single nucleotide polymorphisms with high level of heterozygosity were selected from the online database (http:// ghr.nlm.nih.gov/handbook/genomicresearch/ snp). The sequence of the SNPs was downloaded from the ncbi website (http://www.ncbi.nlm.nih. gov/genbank/) and allele specific primers were designed for each SNP by using the Primer Express (Applied Biosystems, USA) software.

From each subject 2-3 ml venous blood was collected in EDTA. Extraction of genomic DNA was done by the Chelex[™] method⁷ (BioRad USA). The reaction conditions for amplification of each SNP by allele specific primers were optimized. A total of twenty sibling pairs were tested at the 18 SNP loci to determine their genotype frequencies and were also tested for the detection of informative allele by using these SNPs.

PCR Conditions: For SNP-PCR, DNA samples from twenty donor/recipient pairs were tested for these 18 SNPs to identify the informative SNP region.

The lists of primers for amplification of autosomal chromosomal SNPs were as follows:

Marker Name	Sequence of SNP Primers
S 01a-F	GGTACCGGGTCTCCACATGA
S 01b-F	GTACCGGGTCTCCACCAGG
S 01-R	GGGAAAGTCACTCACCCAAGG
S 02-F	GCTTCTCTGGTTGGAGTCACG
S 02-R	GCTTGCTGGCGGACCCT
S 03-F	CTTTTGCTTTCTGTTTCTTAAGGGC
S 03-R	TCAATCTTTGGGCAGGTTGAA
S 04-F	CTGGTGCCCACAGTTACGCT
S 04a-R	AAGGATGCGTGACTGCTATGG
S 04b-R	AGGATGCGTGACTGCTCCTC
S 05a-F	AAAGTAGACACGGCCAGACTTAGG
S 05b-F	AGTTAAAGTAGACACGGCCTCCC
S 05-R	CATCCCCACATACGGAAAAGA
S 06-F	CAGTCACCCCGTGAAGTCCT
S 06-R	TTTCCCCCATCTGCCTATTG
S 07a-F	TGGTATTGGCTTTAAAATACTGGG
S 07a-R	TGTACCCAAAACTCAGCTGCA
S 07b-F	GGTATTGGCTTTAAAATACTCAACC
S 07b-R	CAGCTGCAACAGTTATCAACGTT
S 08a-F	CTGGATGCCTCACTGATCCA
S 08b-F	GCTGGATGCCTCACTGATGTT
S 08-R	TGGGAAGGATGCATATGATCTG
S 09-F	GGGCACCCGTGTGAGTTTT
S 09a-R	TCAGCTTGTCTGCTTTCTGGAA
S 09b-R	CAGCTTGTCTGCTTTCTGCTG
S 10a-F	GCCACAAGAGACTCAG
S 10b-F	TTAGAGCCACAAGAGACAACCAG
S 10-R	TGGCTTCCTTGAGGTGGAAT
S 11a-F	TAGGATTCAACCCTGGAAGC
S 11b-F	CCCTGGATCGCCGTGAA
S 11b-R	CCAGCATGCACCTGACTAACA
GAPDH-F	GGACTGAGGCTCCCACCTTT
GAPDH-R	GCATGGACTGTGGTCTGCAA

The PCR was carried out in a 25 µl reaction mixture containing 5pM of each primer, 0.5 units of Taq polymerase (Fermentas, Lithuania), 30 mM of each dNTP (Fermentas Life sciences Lithuania), 10 mM Tris HCl (pH 8.3), 50 mM KCl,

Ayesha Nayyar et al.

Sibling Pairs	S01	<i>S</i> 02	<i>S</i> 03	S04a	S04b	S05a	S05b	S06	S07a	S07b	S08a	S08b	S09a	S09b	S10a	S10b	S11a	S11b	Total
Pair 1	-	+	-	-	-	-	-	+	+	-	-	+	-	-	-	-	-	+	5/18 (0.278)
Pair 2	+	-	-	-	-	-	-	-	+	+	-	-	-	-	-	-	-	-	3/18 (0.167)
Pair 3	+	-	+	-	-	+	-	+	+	-	-	-	-	-	-	-	-	-	5/18 (0.278)
Pair 4	-	-	+	+	-	-	-	-	-	-	-	-	-	-	+	-	-	-	3/18 (0.167)
Pair 5	-	-	+	-	-	-	+	-	+	-	-	-	+	-	-	-	-	-	4/18 (0.222)
Pair 6	+	+	+	+	-	+	-	-	-	-	+	+	-	-	-	+	-	-	8/18 (0.444)
Pair 7	-	-	-	+	-	-	-	-	-	-	+	-	-	-	-	-	-	-	2/18 (0.111)
Pair 8	-	-	-	-	+	-	-	+	-	-	-	-	-	-	-	-	-	-	2/18 (0.111)
Pair 9	-	-	-	-	-	-	-	-	+	+	-	-	-	+	-	-	-	-	3/18 (0.167)
Pair 10	-	-	-	-	-	-	-	-	-	+	-	-	-	-	-	-	-	-	1/18 (0.056)
Pair 11	+	-	+	+	-	-	-	-	-	-	-	+	-	-	+	-	+	-	6/18 (0.333)
Pair 12	+	-	-	+	-	+	+	-	+	-	+	+	+	-	+	-	+	-	10/18 (0.556)
Pair 13	-	-	+	-	+	-	-	-	-	-	-	-	-	-	-	-	-	-	2/18 (0.111)
Pair 14	+	+	+	-	-	-	-	-	+	-	-	-	-	-	+	-	+	+	7/18 (0.389)
Pair 15	-	+	-	+	+	+	-	-	-	-	+	-	+	-	+	+	-	-	8/18 (0.444)
Pair 16	-	-	-	-	-	-	-	-	-	-	-	+	-	-	-	-	-	-	1/18 (0.056)
Pair 17	-	-	-	-	+	-	-	-	-	-	-	-	+	+	-	-	-	-	3/18 (0.167)
Pair 18	-	-	+	-	-	-	-	+	+	-	-	-	-	-	+	-	-	-	4/18 (0.222)
Pair 19	+	-	-	-	-	-	-	-	-	+	-	-	-	-	-	-	-	-	2/18 (0.111)
Pair 20	-	-	-	-	-	+	-	-	-	-	-	-	-	-	-	-	-	-	1/18 (0.056)
Total	7/20 0.35	4/20 0.20	8/20 0.40	6/20 0.30	4/20 0.2	5/20 0.25	2/20 0.10	4/20 0.20	8/20 0.40	4/20 0.20	4/20 0.20	5/20 0.25	4/20 0.20	2/20 0.10	6/20 0.30	2/20 0.10	3/20 0.15	2/20 0.10	

Table-I: The results of 18 SNPs in 20 sibling (recipient/donor) pairs. The presence of informative allele is indicated by "+" sign whereas "-" sign indicates a non-informative marker.

1.5 mM MgCl2, 100 mg/ml gelatin (Sigma, UK), and 0.2 μ g of genomic DNA. Thermal cycling was done in 9700 (Perkin Elmer, USA) using 28 cycles of: Denaturation 94°C for 30 seconds, Annealing 63°C for 30 seconds, and extension 72°C for one minute. The final extension was done for 3 minutes. The amplified products were loaded on 6% non-denaturing polyacrylamide gels measuring 1 mm x 10 cm x 10 cm on Miniprotean electrophoresis apparatus (Bio-Rad, USA). Electrophoresis was carried out at 150V for 40 minutes. The gels were stained by silver nitrate.

RESULTS

Informative SNP loci in the Donor/Recipient pairs (sibling pairs): In each donor/recipient pair an allele was called informative when it was present (+) in one member of the pair and was absent (-) in the other (Fig.1). The frequency of finding an informative allele at any of the SNP locus in the twenty donor/recipient pairs is summarized in Table-I. The number of informative loci in each donor/recipient pair varied from 1 to 10 (Table-I). The informative loci were categorized as "common", "uncommon", and "rare" (Table-II). This provided a useful basis for initial screening of informative loci in a new donor/recipient pair. Each pair was initially screened by the "common" loci. The "uncommon" and the "rare" loci were tested when none of the common loci were found to be informative. All of the 20 sibling pairs were discriminated by SNP-PCR. At least two or more informative SNP markers were found in every sibling donor pair (Table-II).



Fig.1: SNP analysis in five sibling pairs at the S07a locus. The marker was informative in all five pairs i.e. one sibling having the "+" allele while the other having the "-" allele.

Table-II: Relative informative-ness of the 18 SNP markers in the 20 sibling (donor/recipient) pairs.

SNP	Informative in sibling pairs	%								
	Common									
S 03	8/20	40.0 (0.40)								
S 07a	8/20	40.0 (0.40)								
S 01	7/20	35.0 (0.35)								
S 04a	6/20	30.0 (0.30)								
S 10a	6/20	30.0 (0.30)								
	Uncommon									
S 05a	5/20	25.0 (0.25)								
S 08b	5/20	25.0 (0.25)								
S 06	4/20	20.0 (0.20)								
S 07b	4/20	20.0 (0.20)								
S 09a	4/20	20.0 (0.20)								
S 08a	4/20	20.0 (0.20)								
S 02	4/20	20.0 (0.20)								
	Rare									
S 04b	3/20	15.0 (0.15)								
S 11a	3/20	15.0 (0.15)								
S 05b	2/20	10.0 (0.10)								
S 10b	2/20	10.0 (0.10)								
S 11b	2/20	10.0 (0.10)								
S 09b	2/20	10.0 (0.10)								

DISCUSSION

There are number of molecular assays available for genotyping of SNPs e.g Taqman probe technology,¹ fluorescence resonance energy transfer probe or molecular beacon methods.⁸ These molecular techniques are generally suitable for large scale assays. For small scale assays, the genotype methods used are gel electrophoresis based, such as denaturing gradient gel electrophoresis (DGGE), conformation sensitive gel electrophoresis and single strand conformation polymorphism (SSCP).⁸

This article describes the informativeness in donor/recipient pairs based on SNP based PCR assay. A panel of 18 human biallelic SNPs clearly discriminated all donor/ recipient pairs by SNP-PCR. In this study the SNP panel for the Pakistani population in a local setting has been optimized. These SNPs were then used in real time PCR for the assessment of donor chimerism in patients with various hematological disorders after hematopoietic stem cell transplantation. Moreover, SNPs with high allele frequency should be identified and selected for other populations and additional SNPs can be easily added for use in different patient groups. A group of researchers in their study concluded that the informativeness detected by real time PCR assay was 87% of the donor/recipient pairs.⁹ Alizadeh et al used 18 SNPs as genetic markers in 126 DNA samples from 63 recipient/donor pairs. Recipient and donor discrimination was seen in more than 90% of these pairs.¹

Methods for the analysis of SNPs comprised the allele discrimination between the donor/recipient pairs. Regarding allele discrimination, the most commonly found SNP discriminates 40% of donor/recipient pairs and the least common SNP discriminates 10% of donor/recipient pairs. The 18 SNPs used in this study were able to identify at least one informative marker in all the donor/ recipient pairs (100%). A group of researchers have used a panel of 14 bi-allelic SNPs on 55 recipient/ donor pairs and concluded that one informative allele was found in all of the pairs tested and two informative alleles were detected in 53 of 55 patient/donor pairs. These researchers suggested that detection rates of informative alleles can be increased many fold by using additional SNPs in donor/recipient pairs.¹⁰

Jimanez¹¹ et al studied on 61 patients of acute leukaemias and found the Informativeness of alleles in 80.3% of donor/recipient pairs. Koldehoff et al investigated 10 different SNP gene regions and were able to discriminate 125 of 135 donor-recipient pairs (92.8%).¹²

Maas¹³ et al has concluded that real time PCR using seven SNP markers were able to quantify the percentage of donor and recipient haematopoietic cells and found out informativeness in 97% of donor/recipient pairs. Similarly, Oliver⁵ et al found that 74% patients showed one informative SNP allele by using 10 SNP genotypes and suggested that 96.5% of recipient/donor pairs will have at least one informative allele by using a panel of 25 SNPs. These findings were in coherence with the panel of 18 SNPs that was tested in this study on the donor/recipient pairs.

CONCLUSION

Our study showed that SNP-PCR is a useful technique for the detection of an informative allele as a marker of discrimination in sibling pairs with different hematological disorders. Furthermore these informative genetic markers may also be helpful in evaluation of chimerism status in patients having undergone haematopoietic stem cell transplantation for various hematological disorders. Because our SNP panel is currently optimized for the local Pakistani population, it is likely to require modification for a use in other populations. Importantly, high allele frequency SNPs should be identified for other populations and additional SNPs can be easily added for a use in different patient groups.

Grant Support & Financial Disclosures: None.

Conflict of Interest: None.

REFERENCES

- Altshuler DM, Gibbs RA, Peltonen L, Dermitzakis E, Schaffner SF, Yu F, et al. Integrating common and rare genetic variation in diverse human populations. Nature. 2010;467:52-58. doi: 10.1038/nature09298
- Sachidanandam R, Weissman D, Schmidt SC, Kakol JM, Stein LD, Marth G, et al. A map of human genome sequence variation containing 1.42 million single nucleotide polymorphisms. Nature. 2001;409:928-933. doi: 10.1038/35057149
- Kwok PY, Gu Z. Single nucleotide polymorphism libraries: why and how are we building them? Mol Med Today. 1999;5:538-543. doi: 10.1016/s1357-4310(99)01601-9
- Kim S, Misra A. SNP genotyping: technologies and biomedical applications. Annu Rev Biomed Eng. 2007;9:289320. doi: 10.1146/annurev. bioeng.9.060906.152037
- Oliver DH, Thompson RE, Griffin CA, Eshleman JR. Use of single nucleotide polymorphisms (SNP) and real-time polymerase chain reaction for bone marrow engraftment analysis. J Mol Diagn. 2000;2:202-208. doi: 10.1016/S1525-1578(10)60638-1
- Formankova R, Honzatkova L, Moravcova J, Sieglova Z, Dvorakova R, Nadvomikova S, et al. Prediction and reversion of post-transplant relaps in patients with chronic myeloid leukaemia using mixed chimerism and residual disease detection and adoptive immunotherapy. Leuk Res. 2000;24:339-347. doi: 10.1016/s0145-2126(99)00185-x
- Ahmed S. Study of donor chimerism. Manual of PCR in Diagnostic Pathology. First edition. Rawalpindi: GRC Publications. 2013;P:127-129.

- Kinoshita E, Kinoshita-Kikuta E, Koike T. A single nucleotide polymorphism genotyping method using phosphate-affinity polyacrylamide gel electrophoresis. Anal Biochem. 2007;361:294-298. doi: 10.1016/j. ab.2006.11.032
- Ling KB, Ahmad R, Esa E, Ibrahim HM, Harun M, Ismail1 N. Comparison of Quantitative Real- Time PCR and Short Tandem Repeat PCR for Monitoring Chimerism after Hematopoietic Stem Cell Transplantation in Paediatric Patients. Int J Health Sci Res. 2014;4:78-86.
- Hochberg EP, Miklos DB, Neuberg D, Eichner DA, McLaughlin SF, Mattes-Ritz A, et al. A novel rapid single nucleotide polymorphism (SNP)-based method for assessment of hematopoietic chimerism after allogeneic stem cell transplantation. Blood. 2003;101:363-369. doi: 10.1182/blood-2002-05-1365
- Jimenez-Velasco A, Barrios M, Roman-Gomez J, Navarro G, Buno I, Castillejo JA ,et al. Reliable quantification of hematopoietic chimerism after allogeneic transplantation for acute leukemia using amplification by real-time PCR of null alleles and insertion/deletion polymorphisms. Leukemia. 2005;19:336-343. doi: 10.1038/sj.leu.2403622
- Koldehoff M, Steckel NK, Hlinka M, Beelen DW, Elmaagacli AH. Quantitative Analysis of Chimerism after Allogeneic Stem Cell Transplantation by Real-Time Polymerase Chain Reaction with Single Nucleotide Polymorphisms, Standard Tandem Repeats, and Y-Chromosome-Specific Sequences Am J Hematol. 2006;81:735-746. doi: 10.1002/ajh.20693
- Maas F, Schaap N, Kolen S, Zoetbrood A, Buno I, Dolstra H, et al. Quantification of donor and recipient hemopoietic cells by real-time PCR of single nucleotide polymorphisms. Leukemia. 2003;17:621-629. doi: 10.1038/ sj.leu.2402856

Authors Contribution:

AN: literature search, study design and concept, data collection, data analysis, data interpretation, drafting.

SA: Study design and concept, data analysis, data interpretation, Critical Review, Final approval.